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Note / ATe:
1. This question paper contains total eight questions.
TH T T H T A8 T &

2. Attempt any five questions including compulsory question No. 1.
A aTd 7o Ja< 1 giad gl o TI7 & 3L <ITor |
3. Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.
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4. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.
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5. Re-evaluation / Re-checking of answer book is not allowed.
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1. How did the French revolution and Industrial revolution contribute to the emergence of
Sociology? (20)

THTE T T 3T SRR T o THTSTITE & SGd H (ohe THhTT TETETT (<AT?

2. Describe the basic postulates of scientific method. How far are these followed in
sociological research? (10+10)
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3. Status and role are two sides of the same coin. Discuss. (20)
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. Discuss caste as a form of stratification. What factors are responsible for changing the
nature of caste system in India? (10+10)
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. Emile Durkheim had argued that function of division of labour in society is that of
promotion of social solidarity. Elaborate the statement and analyze the distinction
between two forms of solidarity discussed by him. (10+10)
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. Define social change. Critically evaluate any one theory of social change. (10+10)

araTiorE gfEda w1 ateswfua B gt 9ofeada F R ouw g
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. What do you understand by rural-urban continuum? How would the development of
rurban areas impact the Indian society? (10+10)
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. Write an essay on the environment protection movements in India. (20)
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